ILT90-LT90 M

ACCESSORIES FOR PLATE MOUNTING WITH SAFETY BRAKE

Safety brake

(%]
o
o
[
o
=
o
<t
- |
>
[aa]
>
-
(%2
(%]
(NN}
[E]
Q
<<
-
=
Q
o
L
=
=
o
(E]

Shaft for bobbins 1782101 safely break 332 Nm - D.30
9146580  driving shaft 30x450 + key Screws (not provided)
Washers for bobbins 2 screws M10x 30 DIN 933Zn 8.8
0133x 4 1781025 steel washer 30,5 x 124 x 4 2nuts M10 Zn DIN 934
2003920 Zwshers 10570 DN 125
0159 x 4.5 2003921 steel washer 30,5x 149 x 6 Safety brake

0168x 4.5 9146566 | steel washer 30,5 x 198 x 6

‘ 1782102 Safety break 552 Nm - D.40
0168x35 | 4200472A] steel washer D.30/ 160 R
0193.7x5.4 003924 | steel washer 30,5 x 181 x 6 2 screws M10x 30 DIN 933 Zn 8.8

[s50121 [aningshat a0 rhey | Zuashers Q13 mDNTR
0168x 45 17susu1

01717 [ngbrcketor e 50+ screws |
OO 00
5017175 [orbrckoplto 50 scons |

Safety brake bracket
9017176 | safety brake bracket 332 Nm + screws

9017177 | safety brake bracket 552 Nm + screws

Plates for safety brakes

9017167 | plate CO 330x330
9017169 | plate CO 400x400
[ 9017171 [ plate CO 450x450

835-845-940 950-960 Adaptors sets
set D.124
0133x2.5 9013530 9013537  setD.127

(AT T O T
D L S T
0159 x 4.5 9013533 9013538  setD.149

psocis[soussi [y oo |
[960x35 soess [ [soi

0193.7x5.4 - 9013542 setD.181

Motor bracket

9541089 angle bracket LT90

Motor side plates

9017159 [ plate CM 330x330 LT90
9017162 [ plate CM 400x400LT90
[ 9017164 [ plate CM 450x450 LT90

231



ILT90-LT90 M

ACCESSORIES FOR MOUNTING BETWEEN WALLS WITHOUT SAFETY BRAKE

Bobbin bracket

9017180 angle bracket for shaft 835 + screws

0133x25 2003849 bobbin D.127 shaft .35
0168x45 2003851 bobbin D.138 shaft 0.35
1T Lokt o it 0 ses|

Opposite side plates
9017168 | plate CO 330x330

9017170 | plate CO 400x400

Opposite side plates

9017167 | plate C0 330x330
9017169 | plate CO 400x400

|

835-845-940 950-960 Adaptors sets
, 0133 x4 9013529 9015574  setD.124
v 0133x25 9013530 9013537  setD.127

A T N P
72 [ | Jwom

Motor bracket O159x45 9013533 9013538  setD.149

9541089 angle brackets LT90 m
TR I T T
01937 %54 - 9013542 setD.181

Motor side plates

9017159 [ plate CM 330x330 LT90
[ 9017162 [ plate CM 400x400 LT90

9017179 bearing bracket @30 + screws

0133x4 9542521 bobbin C0 124x30

0133x2.5 9542522 | bobbin C0 127x30
0159 x 4.5 2004194 | bobbin CO 149x30

0168 x 4.5 2003871 | bobbin CO 158x30
0168x 3.5 2003872 | bobbin CO 159x30

232



| WALL MOUNTING ACCESSORIES

LT80/LT8OM&LT90/LT 90 M

Accessories motor brackets

12mm

9mmspacers supplied  125mm
with motor.

6 screws M8x20

Non-manual motor bracket LT 80
Bracket kit for non-override motors LT 80

Material: steel

Weight: 1000 g

Finish: galvanised

Maxi shutter weight: 350 kg A

),Smm

© ®
r
130mm 6screws Max20 130mm 6screws MBx20
31 mm 31 mm

Non-manual motor bracket LT 90
Bracket kit for non-override motors LT 90

Material: steel

Weight: 900 g

Finish: galvanised

Maxi shutter weight: 600 kg A

Ref. 9541089

9 mm spacers

18mm X
85mm L supplied with motor,
4
( $mm
130 mm
70mm

Ref. 9541103

Manual motor bracket LT 80M
Bracket kit for override motors LT 80M

Material: steel

Weight: 1400 g

Finish: galvanised

Maxi shutter weight: 350 kg A

LT80M

9 mm spacers
supplied with motor.

~

Ref. 2270140

Manual motor bracket LT 90M
Bracket kit for override motors LT 90M

Material: steel

Weight: 1400 g

Finish: galvanised

Maxi shutter weight: 350 kg A

233

(%]
o
o
[
o
=
o
<t
- |
>
[aa]
>
-
(%2
(%]
(NN}
[E]
Q
<<
-
=
Q
o
L
=
=
o
(E]




| WALL MOUNTING ACCESSORIES

LT80/LT8OM&LT90/LT90 M

Installation with bobbin

1. Bobbin Heavy duty bobbin
Shaft of g 20 mm Maximum shutter weight: 600 kg - Shaft of @ 35 mm

%\ m g 8
| i

45 mm adjustment
24 mm min. - 69 mm max.

52 mm adjustment

i Ref. 2003849 | Ref. 2003851
Ref. 9542008 | Ref. 9542009 | Ref. 9542012 | Ref. 2003848 Tube 133x 2.5 159 x 4.5

Tube 101.6 x 3.6 102x2 133x4 133x 2.5 Weight 5400 g 8200 g

2. Plate opposite side
Opposite side plate for bearing @ 30 mm and for safety brake Opposite side plate

Ref. 9017167 | Ref. 9017169

H=330 mm H =400 mm

Ref. 9017166 | Ref. 9017168 | Ref. 9017170

H =280 mm H =330 mm H =400 mm

3. U bracket
Steel bracket - Shaft of @ 20 mm Steel bracket - Shaft of g 35 mm

88 mm

70 mm

_T_ T T
i O

-jmT“ Max Weight = 350 kg
- O :[m
Busg O

Ref. 9017180

Heavy duty

234



| WALL MOUNTING ACCESSORIES

LT80/LT8OM&LT90/LT 90 M

Installation with adjustable bobbin

(%]
o
o
[
o
=
o
<t
- |
>
[aa]
>
-
(%2
(%]
(NN}
[E]
Q
<<
-
=
Q
o
L
=
=
o
(E]

1. Adjustable bobbin o 30

Ref. 2003869 | Ref. 9542520 WW Ref. 2004194 | Ref. 2003871 | Ref. 2003872

Tube 101.6x 3.6 102x 2 133 x4 133x2.5 159 x 4.5 168 x 4.5 168 x3.5

2. Plate opposite side
Opposite side plate for bearing @ 30 mm and for safety brake

Ref. 9017165 | Ref. 9017167 | Ref. 9017169 | Ref. 9017171

H =280 mm H =330 mm H =400 mm H =450 mm

3. Bearing 6 30 mm
To be used with adjustable end plate with screw M 10 x 30

Ref. 1781022

Max Weight = 800 kg

235



| WALL MOUNTING ACCESSORIES

LT80/LT8OM&LT90/LT90 M

Plug end for LT 80m & LT 90m

Cheek plate : 1 support bearing 1 drive shaft 2 disc adaptors
i ref. per tube @

Tube

i i |

Locking grub screw

Continuous fillet weld around
circumference of tube

.

33mm See miscellaneous section for shafts & discs to suit safety brakes

Plain shaft @ 30 mm

Material: steel
Weight: 2490 ¢
Maxi load: 1000 kg
Length: 350 mm

Ref. 9146580

Plain steel disc adaptors o 30 mm

Ref. 1781024 | Ref. 1781056 | Ref. 1781057 | Ref. 1781025

Tube 101.6 x 3.6 102x2 108 x 4 133x 4
Weight 183¢g 203¢g 210¢g 365¢

236



| MANUAL OVERRIDE ACCESSORIES

LT80/LT8OM&LT90/LT 90 M

Standard manual override eye outlet
For LT 80M & LT 90M motors

| 110 mm |

10 mm
‘ Material: steel / plastic
: Weight: 90 g
@ G 16 mm Finish: plastic / plated
R

(%]
o
o
[
o
=
o
<t
- |
>
[aa]
>
-
(%2
(%]
(NN}
[E]
Q
<<
-
=
Q
o
L
=
=
o
(E]

Ref. 9137047

Steel hook

32mm

87 mm

©13mm

16 mm

Material: Steel
Weight: 80 g
Finish: galvanised

Ref. 9132253

Crank handle

) Reference: 9129674 Reference: 9129671
Material: Steel Material: Steel
Weight: 1200 g Weight: 1000 g

Finish: Plated Finish: Plated

Ref. 9129674
Ref. 9129671

237



| MANUAL OVERRIDE ACCESSORIES

LT80/LT80M&LT 90/ LT 90 M

Ref. 9014877

238



| MANUAL OVERRIDE ACCESSORIES

LT80/LT8OM&LT90/LT 90 M

Extended eye outlet
For LT 80M & LT 90M motors

(%]
o
o
=
o
=
oc
<t
=
=]
=]
=
=
(%2}
(%2]
w
(=
(%}
<<
-
=
(=)
oo
w
=
=
o
()

16 mm

© mmmmm ]
8

©

248 mm

Material: steel
Weight: 230 g
Finish: galvanised

138 mm

©
|
|

Ref. 9340020

LT 80 or LT 90

9137023 9340020 extended

eye kit

Motor LT 80 or LT 90

i

50mm| !
adjustment length | !

drill and fit split pin

239



